Ex 24.3
Q1

WWe will use equation in diameter form.
(-2 (2 +2) + (3 +3) (y-4)=0
-4+t —y-12=10

2 — = Th =) (T
2g=0,2f=-1 ... [From (1)]
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Centre of the circle 15 (0, %}

r= ﬁ+l+m
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Q2

Centre of the drcles
X4yl rtn 14y -1=0

is (-3, 7)
and x% + % —dx +10y -2 =0
i5 (2,-5)

Equation of the drde is

(¥ X)X =X+ (Y -y [y - va) =0
= [(*+3[x-2)+[y -7}y +E)=1D
KP4 AN -2 B+ ye-TW+Ey-36=0

= X2+}-"2+X—2}-’—41=D

I



Q3

Let the sides A8, BC, <0 and 24 of the square ABCO be represented by the equations
y=3, x=0 v =6 and x = 9 respectively,

Then, coordinates are
Al6,3), 8(93), C(96) and D(6,6).

The equation of the circle with diagonal 4C

(% -6)[x -F)+[4-3)[4-6) =D
= ¥Z_ By - Ox +54+yZ - By +18=10
= x2+y2—15x—9y+?2=ﬂ

The equation of the circle with diagonal &0 as diameter is
(¥ - (x-8)+[y -3 [y -6) =0

= xz—gx—5x+54+y2—3y—Eq,-'+18=EI

= x2+y2—15x—9y+?2=ﬂ

x2+y2—15x—9y+?2=ﬂ

Q4
The given ecuation are
= =40 )
34y =22
X- 3y =14 i
x4y =62 i)

LetA,8 C& D are the points of intersection of the lines (i) &[ii), [1)& [ii}, [ii)&(iv] ad (i) &)
A=(71), B=(8,-2), C=(202) & D=(19,5)
AC will he the diameater of ~he rircl e

L,
the equation of cicle is

=7 (x-20) ~(y -1}y - 2) = 0

= ;<2+!.e2—2?x—3!,f +142 =10



Q5

The line 2x +4y = 12
will meet the axis at 4 |:III, 3]&8 |:4, III:|

Since the circle passes through origin & 4 and &
AE iz a diameter

Thus the equation of circle is
(x-0)[x-4)+[y-3)(v-0)=0

= x2+!..f2—4x—35,f=lil

Q6

Since the circle is passes through origin and cut intercept 2 and & on
X - axlie & ¥ - axis

Coordinate of circle A = (0,4) and & = {2, 0)
AL s the diameter of circle

The equation of circle is
[x—aj(x—ﬂj+(r —Dj[g,f —bj= o

= ¥y pieax+ by =0



Equation of circle in diameter Form 13,
() (=212 + (v-2) (y+ 1) =0
% —8x—484+1 - 2y-3=0

2 —8x—2y4+y  —51=0........... (1)
To find yantercept, put x=01n (13,
yi-2y—51=10

. 214+ 204

2
24,208
2
v intercepts are 144413

F

The given equations are

We have, the roots of {rj will @ive the absissas and the rocts of [nlj will give the ordinate of A& 8
respectively.

Mow roote of [ﬂ

H? Z F]
2at 43 +4b -*‘Bﬂ:m

N o= >

Roats of (i)

o S '-'sz et w-P A P2 42

Coordinates of 4 = (—a +fa® + 0%, -2 P +c;'2]

8= {-a- J;izq-b?J 'P'JPZ‘HG‘E]

=0, the equation of circe is
(x +a—1.,||aa+tt2] (x +a+«.£2+bzl+(y +8 - et +¢§](V +P +..[52 +q3}= ]

= x2+'_.f2+2.5-x+25y—{az+b2+ﬁ‘2+a2]+az+ﬂ2=ﬂ

s x7+fE+Eax+E’Py—{ﬂ2+q2}=ﬂ




Q9

Here AB and AD are taken as x —axis and y —axis respectively.

Since A8C0 s a
square thus the coordinate of

A= (0,0
£ =(a0)C=(aa)
D =(0,3)

ED is a diameter
=0, the equation of drde is

[(w-a8)[x-0)+[y-0)][y-a)=0
=5 X2+y2—ax—ay=lil
50,
X2+y2—a[x+y:|=lil

Q10

The given equation of line & circle in
2r-y+6=0.......[0)

2 4yZ_2y—Q =0..... (i)

The point of intersection of {i)& (i) is

w2+ (2% +6)° - 2(2%+6) -0 =0

X2 4 dx? +24x4+36-4x -12-0=10

Sx?+20x+15=10

¥244x +3=0

(x +3){x+1)=0 = x=[(-3-1)
Ly =(0,4)

b

oA = [—31 Dj& g = [—1, 4j
A& is a diameter, so the equation of circleis
(x +3)[x+1)+[y -0}y -4 =0

= ¥P 4yl 4 -4y +3=0



Q11

The trianale is formed by

x= 0 i)
Y =EI........|:iijS<
betmmy = 1o, i)

The line [iiij cuts the axis at
A =[D,i] and at &2 =[E,D]
o] !

Mow, A8 will be the diameter of circle,
- equation of circle will be,

{X—A{)[K—Dj+[}’—ﬂ){}“—%_“)=ﬂ

= x2+y2—?—i=ﬂ

3

= x2+y2—§— =0

&
Ledt



Q12

Figure shows four such circles.,
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P
Angle between y=x and y=-x 132 o

- Angle between OB and OA =?_;

Hence, AR, BC, CDand AD are diameters of circles.

ZBOQ= %T

. EQ
Sin SBO=—_=
i = =



